Year 2 Maths Activ

@

ity Mat: Autumn 1

Use a ruler to measure this line
in cm.

é )
Section 1 Section 4 Section 7
Put the missing numbers on the number line. Which unit would you use to measure these objects?
8+2=
m/cm
7+3= :ll 3 m/cm
1+9= L
\ > 7
( 1 | Section 5
Section 2 What numbers come next in the sequence?

16, 15, 14, ) ,

“

The line is (
. J | Section 6
N Add 2 more to each number.
Section 3 18
9-2-=
11 ——p

5-3=
7.1= 22 —P

Section 8

A juggler is juggling 6 balls. He drops 1 of the balls.
How many is he juggling now?
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Year 2 Maths Activity Mat: Autumn 1
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Answers
a a

Section 1 Section 4 Section 7

10 Put the missing numbers on the number line. Which unit would you use to measure these objects?
8+2=
2

7+3=| 10 :ll 3 @cm

1+9= 10 \
S r
( Section 5

Section 2 What numbers come next in the sequence?

Use a ruler to measure this line ——

in cm. m @

16, 15, 14,| 13 |,| 12 | | 11
.

The lineis | 3cm r Secti_on 8

\ Section 6 A juggler is juggling 6 balls. He drops 1 of the balls.
Add 2 more to each number. How many is he juggling now?
i @)
Section 3 18 -0 .
9-2= 7 @)
11 —> 13
5-3= 2
. 6 22— | 24 5
.
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Year 2 Maths Activ
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ity Mat: Autumn 1

Use a ruler to measure this line
in cm.

é )
Section 1 Section 4 Section 7
Put the missing numbers on the number line. Which unit would you use to measure these objects?
7+6=
15 +3 = 1|2 1|"
8+5= \
o v 7
( 1 | Section 5
Section 2 What numbers come next in the sequence?

m/cm

33, 32, 31, , )

“

The line is (
. J | Section 6
N Add 2 more to each number.
Section 3 34
15- 4 =
40 ——p

17 -9 =
14 - 8 = 8

Section 8

A juggler is juggling 10 balls. He drops 4 of the
balls. How many is he juggling now?
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Answers
é ) (
Section 1 Section 4 Section 7
13 Put the missing numbers on the number line. Which unit would you use to measure these objects?
7+6=
se3o| 18 1|2 13 1|4 15 16
8+5= 13 \
\ > 7
( 1 | Section 5
Section 2 What numbers come next in the sequence?

Use a ruler to measure this line
in cm.

.

33, 32, 31, 30 29 28

The lineis | 4cm r Section 8

\ / Section 6 A juggler is juggling 10 balls. He drops 4 of the
\ Add 2 more to each number. balls. How many is he juggling now?
[ ] 0 ‘
Section 3 34 36 o o
15-4 = 11 (@)
40 —> 42
17-9 = 8 o
sl 6 78 —> | 80 6
o
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Use a ruler to measure this line
in cm.

( )
Section 1 Section & Section 7
Put the missing numbers on the number line. Which unit would you use to measure these objects?
60 + 20 =
40 + 30 = "l" 9|8
10 + 50 = \
\ > 7
( 1 | Section 5
Section 2 What numbers come next in the sequence?

103, 102, 101, , )
“
The line is (
. J | Section 6
N Add 2 more to each humber.
Section 3 112
31-6 =
104 ——p
40 -5 =
627 109 —»

Section 8

A juggler is juggling 12 balls. He drops half of them.
How many is he juggling now?
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Year 2 Maths Activity Mat: Autumn 1

@

Answers
[ (
Section 1 Section & Section 7
Put the missing numbers on the number line. Which unit would you use to measure these objects?
60+20=| 80
97 99 100 101
40+30=| 70 "l" 9|8
10 + 50 = 60 \
" Z e
e e V|
( Section 5
Section 2 What numbers come next in the sequence?
Use a ruler to measure this line
in cm.
103, 102, 101,100 | | 99 | | 98
.
The lineis | 6cm r Section 8
\ Section 6 A juggler is juggling 12 balls. He drops half of them.
Add 2 more to each number. How many is he juggling now?
. O @
Section 3 112 114 . °
31-6=| 25 (®)
104 —> 106 o
40-5=| 35 o o
.
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